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Section A — ALL 20 questions are compulsory and MUST be attempted

Please use the Candidate Answer Booklet to record your answers to each
multiple Choice question. Each question is worth 2 marks.

1- Zeno Company ltd. Produces and sells two products Marf and Sarf , the
sales budget for the month of April is:
7,000 units of Marf at SDG 30/unit
3,000 units of Sarf at SDG40/unit
Standard contribution is 30% of selling price.
The Actual sales was 8,000 units of Marf and 7,000 units of Sarf .
The Sales Quantity Variance is:
A. SDG 49,500 Adverse
B. SDG 49,500 Favorable
C. SDG 39,500 Adverse
D. SDG 39,500 Favorable
2- The following information is extracted from the income statement of
Yolo co. For the Year End 31/12/2016:

SDG
Sales Revenue 2,500,000
Variable Cost (2,000,000)
Contribution 500,000
Fixed Overheads (100,000)
Interest expenses (75,000)
Tax expenses (65,000)
Net Profit 260,000
The Operating Gearing for Yolo co. is:

A. 192

B. 3.20

C.1.25

D. 2.25
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3- At the start of the year, division (A) has non-current assets of
SDG7.5million and makes no additions or disposals during the year.
Depreciation is charged at 10% per annum on all non- current assets.
Working capital is SDG 1.25 million at the start of the year and is expected
to increase by 20% by the end of the year. The budgeted profit of the
division after depreciation is SDG 1.7 million.

The expected Return on Investment (ROI) of division (A) for the year based

on average capital employed is:

A. 25%
B. 20%
C. 18%
D. 15%

4- A contract requires 100 hour of skilled labor, the labor rate is SDG 5/hour
and there is no spare time, hence; the contract would have to be done in
overtime which paid at 150% of the normal working hour’s rate.

The relevant cost of labor is:

A. SDG 550
B. SDG750
C. SDG800
D. SDG 950

5- Which of the following approaches to decision making is a risk-seeking
approach?

A. Maximin
B. Minimax regret
C. Expected value
D. Maximax
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6- A company is planning to introduce a new product; the test production
time for the first two units was 18 hours and 10 hours respectively.
The learning rate is:

A. 55.5%
B. 82.0%
C. 78.5%
D. 18.2%

7- Which one of the bellow performance perspectives is NOT being
measured by the balanced scorecard?

A. Financial perspective

B. Customers perspective

C. Competitors’ reaction perspective
D. Innovation and learning perspective

8- Which of the following characteristics distinguish the service business
from the manufacturing business?

(1) More emphasis on quality
(2) In-tangibility

(3) Perishability

(4) No transfer of ownership

A. (1) and(2)
B. (1), (2), and (3)
C. (2), (3) and (4)
D. (1) and (4)
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9- Which of the following statements is/are correct?

(1) A decision tree is a tool that can be used to identify the best decision
using the expected value technique

(2) A decision tree must be drawn to know the exact risks and rewords of the
decision.

A. Statement (1) only
B. Both

C. Statement (2) only
D. Neither of the two

10- The demand that remains unresponsive to the price changes, is called:

A. Inelastic
B. Efficient
C. Stable
D. Elastic

11- Which of the following is NOT a product lifecycle stage?

A. Development
B. Introduction
C. Revolution
D. Maturity

12- The cost tracing factor used by the activity based costing technique is:

A. Activity driver

B. Cost driver

C. Value driver

D. Measurement driver
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13- Coco Company limited(CCL) identified one of its machines as a
bottleneck resource, the machine produces 100 unit per hour and works for
6 hours per day, the company product is sold at SDG 50/unit and consumes
materials of SDG 10 per unit, the total factory cost is SDG 15,000 per day.

The throughput accounting ratio is:

A.1.20
B. 2.60
C. 1.60
D. 1.88

14- The pricing strategy that involves charging low prices when a new product
is first launched on the market to attract more demand is called:

A. Market capitalization
B. Market penetration
C. Market swimming
D. Market waving

15- One of the traditional budgeting approach’s disadvantages is:

A. It builds on future expectations

B. It builds on previous problems and inefficiencies
C. It ignores the fixed cost

D. Itis difficult and slow

16- The principle of controllability requires that managers of responsibility
centers should only be held accountable for the cost :

A. Over which they have no influence
B. Over which they have influence

C. Cost of production

D. Cost of idle capacity
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17- The profit Variance caused by the difference between the original sales
budget and the revised sales budget is called:

A. Sales prices variances

B. Sales estimation variance

C. sales volume planning variance

D. sales manager’s performance variance

18- Which of the following is NOT an internal source of management
accounting information?
A. historical Sales records
B. Financial Accounting information
C. Government agencies
D. Production information

19- A manufacturing company has developed a budget for the life-cycle of a
new product, Zeta. The information in the following table relates
exclusively to product Zeta.

Lifetime total per unit
Design costs SDG800, 000
Direct manufacturing costs SDG20
Depreciation costs SDG500, 000
Decommissioning costs SDG20, 000
Machine hours 4
Production and sales units 300,000

The company’s total fixed production overheads are budgeted to be SDG 72
million each year and total machine hours are budgeted to be 96 million hours. The
company absorbs overheads on a machine hour basis.

What is the budgeted life-cycle cost per unit for product Zeta?

A.SDG 27.4
B. SDG 24.7
C. SDG 28.4
D. SDG 28.7
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20- Nizar is planning to sell ice cream during the Africa Champions league
football matches in Alhilal & Almarrikh stadiums, for the groups stage
matches this year he summarized the demand as following:

Demand Level Probability Sales

High 0.5 SDG 2,000
Medium 0.3 SDG 1,500
Low 0.2 SDG 1,000

What is the expected value of Nizar’s Sales?

A. SDG 1,550
B. SDG 1,350
C. SDG 1,650
D. SDG 1,850

(40 Marks)
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Section B — ALL 3 questions are compulsory and MUST be attempted

Question (21)

Asim Osman is a young Business Strategist, as a multitalented professional, he
quit his day job to start his own business, his core business is the strategic
consulting, but he also generates a substantial amount of income from other
activities, he got stuck with his profitability due to the limited number of his
working hours, and one of his friends sent him to you for advice.

Asim approached you saying “I just want to know what makes me more profit,
last year | felt that | spent my time in a less profitable tasks, | don’t want to repeat

it”.

For this Year, Asim plans to work 45 weeks at a rate of 50 hours per week, he told
you about his business Tasks as follows:

1-

The Consulting:

The consulting is the backbone for my business, | expect a lot of
consulting assignments this year, | already committed to several projects
require a total of 25 weeks, my client’s base consist of high profile startups
and big corporates, and | normally generate an average net income of SDG
200/consultation per hour.

Local College Training program:

I am reviewing a proposal from a local training colleague to conduct a
professional course it would be held three times a year to help young
entrepreneurs accelerating their businesses, each of these three courses needs
150 hours, the expected net income (for all the three courses) is SDG 87,750
The weekly Article:

I am committed to write a weekly technical article for one of the famous
local business magazine, it takes 2.5 hours to finalize an article, the
magazine will publish 50 issues this year, they pay me an amount of SDG
475 for each published article.

The government project:

A few days ago, the chairperson of the national strategic planning
council(NSC) called me to see if | could be able to work with his team on
government plans, he wants me to work as a subject matter expert to
consolidate the information of different departments, prioritize and draft the
final unified plan and then go in a tour to communicate and promote this
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plan, he sent me the work schedule and | quantified it to a Ten(10) weeks
workload, this plan is sensitive to the government, it relates to the American
sanction’s lifting, so the NSC will pay me a net income of SDG 133,250.
Asim commented on this list saying “it seems to be another exiting year for
me is coming, | need to focus on the profitability and also think how I can
overcome the time limitation”

Required:

Asim identified the number of working hours as limiting factor for his

productivity and profitability, using the above information provided by

Asim:

a) Calculate the total number of hours required to complete the tasks
listed by Asim(from 1 to 4), and the shortage in his time. (3 Marks)

b) Calculate the income per hour for each one of the abovementioned
tasks (1 to 4) and rank the tasks according to the highest income per
hour. (8 marks)

c) Prepare an optimum service plan that could be applied by Asim to
achieve the highest possible net income and calculate the amount of
income if he adapted this plan. (8 marks)

d) Identify and explain THREE suggestions to help Asim to overcome

his time limitation problem. (6 marks)
(Total 25 Marks)
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Question (22)

You have recently been appointed in a performance improvement specialist role
in Mondwa Foods production Company Limited (MFPCL), it is a local company
specializes in natural foods and drinks, you are reporting to the CFO and during
first meeting with him, he told you about the current challenges Saying:
“Currently; we have two projects under review, the first one is the Geddaim
drink(GD), it’s a good product as it fits very well with our “going Natural” market
strategy, however; | am worried that it will not pass the target costing criteria, the
estimated cost is relatively high, | spoke to the production and the marketing
directors and they both told me that “there is a room for improvement”, in
summery there are many unnecessary manufacturing items, some branding
activities like retailers support, promotional events and labeling are exaggerated
and finally I belief that we should not do more efforts to distribute it because our
current distribution channel should be enough, | will send you the detailed
information, please go through and give your advice.

The second is the quality control services; we have a good quality control team
and our lab is well prepared with an up-to date testing and analysis technologies,
currently our lab is working with an underutilized capacity of 40% therefore we
plan to utilize this to conduct quality control and quality improvements projects for
other companies, however; the target costing seems to be irrelevant criteria here,
but | need to explain this to the Board of Directors, can you please prepare me a
very brief paper to explain why the target costing is not suitable to assess such
services project?,”.

Below is the summery of the information you received from the CFO regarding
the Geddaim drink:

Summary of GD Information Received from the CFO:

The company is preparing to launch a new drink, the GD is a natural drink would
be produced from a local crop & will target the non-soft drinks customer’s class,
according to the market researches, the GD could be sold at a price of SDG
7/bottle, the company investment policy requires that any new products should go
to the market if it achieve as minimum as 20% mark up (target cost+20%), the
project team produced the following estimations for the unit cost:
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SDG

Direct Manufacturing Cost 4.75
Distribution Cost 0.85
General Overheads 0.65
Branding 1.50
Total estimated Cost/unit 1.75
Required:

a) Calculate the Target cost and the cost gap for Geddaim Drink. (4 marks)
b) Suggest and briefly explain three (3) ideas to be adapted by MFPCL to
close the Cost gap. (6 marks)
c) Prepare the briefing paper required by the CFO explaining why the
target costing technique is not relevant to assess the worthiness of the
quality lab service. (10 marks)
(20 Marks)

Question (23)

Ahmed Joa is the owner and operator of the “Joa Café”, he is selling a luxury
Coffee and Cupcake, Ahmed estimates that with each three order of coffee there is
one order for cupcake, the coffee price is SDG25/cup and variable cost of
SDG18/cup and the cupcake is sold at SDG10/pack with a variable cost of
SDG7/pack, for the month of July 2017, Ahmed’s fixed cost is expected to be
SDG18, 000, and Ahmed is targeting a net profit of SDG4,000 for the same month.

Required:

a- Calculate the number of units and sales revenue which required from
each product to a chive the breakeven point for the Joa café (5 marks)

b- Calculate the number of units and sales revenue which required from
each product to a chive the net profit targeted by Ahmed. (5 marks)

c- Briefly discuss five (5) of the limitations of the cost volume profit

analysis. (5 marks)
(15 Marks)
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Where
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Formulae Sheet

Learning curve

Y = a(x)IO

Y=cumulative average time per unit to produce x units
a=the time taken for the first unit of output

x=the cumulative number of units produced

b=the index of learning (logLR/log2)

LR = the learning rate as a decimal
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